
Question 1 

Question text 

Governance Challenges while implementing DT include: 

Select one: 

a. Digital Divide 

b. Lack of Trust 

c. Lack of awareness 

d. All of the above 

Question 2 

Question text 

What are the cyber security risks in DT? 

Select one: 

a. Hard to predict all scenarios ahead of time, especially when ML is applied to problems that 

are difficult for humans to solve. 

b. Hard to build systems that provide both the necessary security as well as the flexibility to 

generate creative solutions 

c. As AI technology develops, attackers will surely find new means of attack; and new solutions 

will need to be developed in tandem. 

d. All of Above 

Question 3 

Question text 

Which of the following is not a valid recommendation for Interpretability 

Select one: 

a. Design the model to be interpretable 

b. Choose metrics to reflect the end-goal and the end-task 

c. Linguistic translations 

d. Understand the trained model 

 


